=100Y (M=100>

125>, Ug2

=40), Ua=250Y (M=

-2V (M

Ugl=

SETTINGS:

J aa
OR Oz O ox
BTyuoo 39)00S sSpoul aa ¥n
¥ 393 pouy 70 A58l
°6
0
Brjuoo j39y)00s gb aa
B q
()] (\] -
05|03
BTFU0D0 39)00S JUS3ESH- |BTFUOD 334005 JUD}EIH+ z
T 3 3 H och | =- ._n_-
™ < (o)} (&) (V)
o5 OF 0z O N m 3
wyo @R9 613uU00 393005 Spayje) an | e w
] z o
(o 2 ¥ ¢
~ T .a
Bb1juoo qa00s b [~1 160 X -
BSe |esh
0302 o
0| I~ (TR
[4n] A7 [[WYON] J03Srsad-4ss 16 [~ 430 |an
5]
S o3
[WYO] JO}STISDU "uss Spoyie)d o
23 i M
\D (W]
02 03 N
[A] eN [[Yw] o105 PI & 4931
0ST 01 \ 0S1
o° oS L os
[n1 26n |[98A1 IN . a1eos 2gbn
g2 2 g1
o= & o=
[n]12129s in|[n] 21295 16N [Qw] a1eos gb1
€
o= o
[Yw] 3130941 |[PN] S1E0S 30a1] ‘pel ‘1Bl “y-FI |[Yw] o1eds en 3S "Ny
= =)}
O« O«
[n1 16N [YJW,/Nn] 8[E0S 90uUE}dhpuUOISUBJ | spotd en

3.2mA (M=64>, S=3mAsV (M=30)

1a=8.5mA (M=85)>, Ige

READINGS:




